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Time allowed : 2:30 hours | [ Maximum Marks : 40

o PV GT BV T F 59 49797 F FRa §° 15 7o 997 14 &

Please make sure that the printed pages in this question paper are 15 in number
and it contains 14 questions.

o Jo7-7H ¥ e & @ G kT T8 FS THY Fol § H OH F-Yikaw F FEI-g8 97
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T FH TV [0ET J& VT G Yee, 9T H B ST [
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §,/9 T S5

Don’t leave blank page/pages in your answer-book.

o FT-YRTH B SIRFT FF o dMe Tel A o SEvIRagEr & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1208/(Set : A) P.T.O.



(2) 1208/(Set : A)
o TRl ST AT To JeT-UH T SHaed [@ T To & SARFT FIT-YH G o FE A T
ford siiT dmfoas a9t & GOl q¥ el F @ (9 T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o YT F97 % FUT 37 @ {4 & GElEd FY a [ Fe7-0F {7 T 78 8, g # I 59
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
(i) o797 G G - & § T 97 T 7 der T 8
The question paper is divided into four Sections - A, B, C and D.

(i) @& -9 B Fo7 @& 1 § 1 37% % 10 FGTo 597 &1

Section-A consists of question no. 1 has 10 Objective Type Questions of 1

mark each.
(i) G -F 71 7% &4 T TLTIT F97 &1

Section-B consists of 4 Very Short Answer Type Questions of 1 mark each.
(iv) % - 52 3% %5 TgI0T 597 &1

Section-C consists of 5 Short Answer Type Questions of 2 marks each.

(v) GUE-§ F SdRF [A%T & T 4 T8 4 [9r5F F97 &

Section-D consists of 4 Essay Type Questions of 4 marks each with internal
choice.

1208/(Set : A)



(3) 1208/(Set : A)
gug - H

SECTION - A

1. @ v offaard & X vd% 1 3i% & 2 1x10=10

All questions are compulsory and carry 1 mark each.

() FTP& U M &1 & ?
(A) BT TRY HHET
(B) F THRE AR
(C) TR FIEwY ST
(D) I TERSH St

What does FTP stand for ?
(A) File Type Processor
(B) Full Text Processing
(C) File Transfer Protocol

(D) Fast Transmission Protocol

(i) ISTed o9 H TH AR HiaH ¥ G99 8lel 7M1 < $X @ [MC B9 SQL ®aRM &

YA fher T B ?
(A) LEAST () (B) MIN ()
(C) SMALLEST () (D) BOTTOM ()

1208/(Set : A) P.T.O.



(4) 1208/(Set : A)

Which SQL function is used to retrieve the smallest value from a specific
column in a database table ?

(A) LEAST () (B) MIN ()
(C) SMALLEST () (D) BOTTOM ()

(iii) Fpel IOt # TEWR® et & fT fhE HTML T %1 STANT fpar ST & 7
(A) <u> (B) <h>
(C) <a> (D) <p>

Which HTML tag is used to create a hyperlink in a Webpage ?
(A) <u> (B) <h>

(€ <a> (D) <p>

(iv) IR elements "P", "Q", "R" X "S" & Tk stack ¥ @ el ¥ ;X Th IX § &l
o Srar &, @ S e %W H gern s ?

(A) PRSQ (B) RSPQ
(C) SRQP (D) PQRS

If the elements "P", "Q", "R" and "S" are placed in a stack and are deleted

one at a time, in what order will they be removed ?
(A) PRSQ (B) RSPQ
(C) SRQP (D) PQRS

1208/(Set : A)



(5) 1208/(Set : A)
(V) eeeeeerriiins T H I HTML & TRE P SHSTARA HA & [0 61 S &l

............. Tag is used for making the text underline in HTML.
6) R A SRy, WS & A9 & 1 & F91 a1 8

........... unary operator, increments the value of the operand by 1.

(vii) EFR 0% TN SHEES S TR & Pad [ Se1 TRy & aRued & d9d ol
i

Structure is a user-defined data type that can contain variables of different

data types. (True/False)

(vii) HTML & <h1> & & SWEN FAq9 /T8 F9 Aedyqel id H GRAmNd F: &
foe fepar S 21 (7] 7))

The <h1> tag in HTML is used to define the least level/the least important
heading. (True/False)

35 : 79 Ry 77 g9 (ix TF x)7, SH¥HYT (A) 37T R (R) % &Y F [ae77 & %97 &
9% 597 7 Ha Ry 10 et § @ @& Awey #7797 B -

Direction : In the questions (ix and x) given below, there are two statements
marked as Assertion (A) and Reason (R). Choose the correct option out of the

choices given below in each question :

1208/(Set : A) P.T.O.



(6) 1208/(Set : A)
(ix) SIEEE (A) : SQL # YU &9 Simple Query Language 3

R (R) : SQL FT SN Raswa Se@d § 1 & o< X FEie & & fae
S 2

(A) TREE (A) R FROT (R) a1 91 & X 3R (R), IRHEE (A) #l 98 e
2l

(B) aIfrmed (A) R PRI (R) 31 98 & 3R &R (R), STHeH (A) &l T& e
T R

(C) SINHIE (A) T 8, QBT BT (R) 1A 2

(D) SIRBEN (A) STHH 8, Al B (R) 9 2l

Assertion (A) : The full form of SQL is Simple Query Language.

Reason (R) : SQL is used to retrieve and manage data in relational

databases.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1208/(Set : A)



(7) 1208/(Set : A)

(x) SREREE (A) : T URL (FF%M REM @i®ex) e W 0F 4909 & 9o & a8 o
HROT (R) : 39 SS9 ace dIgs 99 § d9US Bl §e AN M & & ¢ URL &

(A)

(B)

(C)

(D)

SUGT FHXA R

M (A) ST HRT (R) AT T8l § X 3R (R), If¥6e (A) # T2 e
2l

JTRYHET (A) X HROT (R) a1 Tl & X B (R), SIRMHA (A) 3 T8 e
T B

ANYHIT (A) T &, ARBT BRI (R) STEH B

ANHE (A) T &, QAMPT BRI (R) 9 Bl

Assertion (A) : A URL (Uniform Resource Locator) is like the address of a

webpage on the internet.

Reason (R) : Web browsers use URLs to locate and retrieve Webpages from

(B)

(C)

(D)

1208/(Set : A)

the World Wide Web.

Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are correct and Reason (R) is not

the correct explanation of Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

P.T.0O.



(8) 1208/(Set : A)
gug -

SECTION - B

Note: @ usH offgrd 21 7% s & 3% 39 9MA Ry T &

All questions are compulsory. Marks are indicated against each question.

2. C++ 7 “gR” qU &1 o 1

Write syntax of "for" loop in C++.

3. BB FUBR B HEF & T9 Sql| 1

Name any two types of constructor.

4. 2NF &l qRHMNG Hifora) 1
Define 2NF.

5. SQL# {5 35 & a7 eoM & [T SUENT & 9T arel INSERT &4iE &l faeaq ford 1

Write the syntax of INSERT command in SQL used to insert data into a table.
gig -9
SECTION - C

Note: @49 o9/ B Y% 9 3 i SH A U MU 2

All questions are compulsory. Marks are indicated against each question.

1208/(Set : A)



(9) 1208/(Set : A)
6. 'student data' 8eE¥ ¥ 'Student_Course' IHE = G & THH AT : 2

Examine the following table named 'Student Course' from the 'student data'

database :
Stu_ID Stu_Name Stu_Course
101 A Hindi, Maths
102 B Hindi, Bio
103 C Computer, Bio
104 D Computer, Maths

(i) R T e R A B (INF) § § ?
(a) &
(B) &
(€) TeiRa =& frar s Hepa
Is the given table is in First Normal Form (1NF) ?
(A)  Yes
(B) No

(C) Cannot be determined

1208/(Set : A) P.T.O.



(10) 1208/(Set

(i) B AWT BH (INF) B e e @ 2 ?

(D)

Yo HieH H Th 9 A qH
JoE B | IR-TSHEG AN

Yo hieH § Ui/ Thel A
T | B T

What is the key characteristic of First Normal Form (1NF) ?

(A)
(B)
(€)

(D)

Multiple values in each column
Non-atomic values in each column
Atomic/Single values in each column

None of these

e

OR

ISR b G SQL H fhdl ft 8 DDL Commands &l & H1

Explain any two DDL Commands in SQL with example.

: A)

7. C++ ¥ U%h 709 & G T B B dd IRWING 6 S @bl &, 38 U 3&=<T & 9

q9=Y|

Explain, with an example, how to define a function outside a class in C++.

1208/(Set : A)
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(11) 1208/(Set : A)
8. SUM () %R X 36 tad & SQL ¥ Ieed died q9=msy) 2

Explain SUM () function, its syntax in SQL with example.

9. HTML & IUGNT % Th JsU9 ¥ image P A NS Thd & 7 2
How to add image in a Webpage using HTML ?

10. 129 Fe& H TF BE1 GHEROT & PR TS b aR 7 A T Ao W FH I @ o
98 TR &l WA Fl 8, Tl BRV & 6 98 HOG § I fSored Sfodi H T Bl
Bl 98 U FYX W Th AS9R & SUANT Hh [~ de@Rel &l O &Y @l ol 8@ &
9 I H ST b JIGEEC b H AEEH § P 99 Txad (Td) H G B § SR
AT W H G FA B

(ST B & STER T I 3) 2

A 12th-class student is working on her school project about eco-friendly
practices. She cares about the environment, which is why she uses digital copies
instead of paper. She is exploring different websites using a browser on her
computer. She explores many web addresses through website links using a

search engine and completes her project.

(Give answer based on the above information)

(i) fr=fafea § @ S t SS9 B SEE § ?

(A) TR 98
(B) T HH

(C) TS WIS
(D) THd BT

1208/(Set : A) P.T.O.



(12) 1208/(Set :

Which of the following is an example of a browser ?
(A) Microsoft Word
(B) Google Chrome
(C) Adobe Photoshop
(D) Excel Spreadsheet
(i) SEA O Uoige & U T I B SWN ;i fhar ?
(A) fefted fom oM & foT
(B) Wode ®iet Tfee A & faQ

(C) TS & Heftd T < A & Y

(D) SIS Bl l HARYT B & o

Why does she use search engine for her project ?
(A) To draw digital pictures

(B) To edit project photos

(C) To find relevant information quickly

(D) To organize project files

1208/(Set : A)



(13) 1208/(Set : A)
goEg - T

SECTION - D

11. ST §FR  AMEX # #0157 MR & § 0% ufede 398 & & [ O e fad
aﬂww@ 4

What is a linear queue in data structure ? Write and explain an algorithm to

insert an element into a linear queue.

e
OR

HifET 7 B ? g9 G H @R dfed IR gy 4
What is sorting ? Explain Bubble Sort in detail with example.

12. SDLC T 8 ? SDLC & {8l a7 =<l &l foear & swemsy 4
What is SDLC ? Explain any three phases of SDLC in detail.
37T
OR
R @ e &Y 4
(a) =N T T
(b) T S R
(c) e T
(d) EIW R

1208/(Set : A) P.T.O.



(14) 1208/(Set : A)

Explain the following :
(a) Black Box Testing
(b) White Box Testing
() Unit Testing

(d) Integration Testing

13. AcafeT & TCP/IP disd & fGaxe & 3R 29 dfsd & el & o & HETeIel & quem|
4

Describe the TCP/IP model in networking and explain the workings of any two

layers of this model.

STeE
OR

rToTRaT @l AT &} 4

Explain the following :

(@) LAN
(b) MAN
(© WAN
(d) WWW

1208/(Set : A)



(15) 1208/(Set : A)
14. C++ ¥ 3RRET H TRWNg H ol R, Aiud R Aiclad sTeed &l e & 4

Describe Inheritance in C++ and explain Single, Multiple and Multilevel

inheritance.
ST
OR
C++ ¥ fEEgaey ® STIUROT B Th IUAHRT THHT IaTEIT & AT T 4

Explain the concept of a destructor using a suitable programming example in
C++.

1208/(Set : A)
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Please make sure that the printed pages in this question paper are 15 in number
and it contains 14 questions.

o Jo7-7H ¥ e & @ G kT T8 FS THY Fol § H OH F-Yikaw F FEI-g8 97
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T FH TV [0ET J& VT G Yee, 9T H B ST [
Before beginning to answer a question, its Serial Number must be written.
o FUT-YikTHE % &= H @Il §,/9 T S5

Don’t leave blank page/pages in your answer-book.

o FT-YRTH B SIRFT FF o dMe Tel A o SEvIRagEr & g st frar Fav T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

1208/(Set : B) P.T.O.



(2) 1208/(Set : B)
o TRl ST AT To JeT-UH T SHaed [@ T To & SARFT FIT-YH G o FE A T
ford siiT dmfoas a9t & GOl q¥ el F @ (9 T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o YT F97 % FUT 37 @ {4 & GElEd FY a [ Fe7-0F {7 T 78 8, g # I 59
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
(i) o797 G G - & § T 97 T 7 der T 8
The question paper is divided into four Sections - A, B, C and D.

(i) @& -9 B Fo7 @& 1 § 1 37% % 10 FGTo 597 &1

Section-A consists of question no. 1 has 10 Objective Type Questions of 1

mark each.
(i) G -F 71 7% &4 T TLTIT F97 &1

Section-B consists of 4 Very Short Answer Type Questions of 1 mark each.
(iv) % - 52 3% %5 TgI0T 597 &1

Section-C consists of 5 Short Answer Type Questions of 2 marks each.

(v) GUE-§ F SdRF [A%T & T 4 T8 4 [9r5F F97 &

Section-D consists of 4 Essay Type Questions of 4 marks each with internal
choice.

1208/(Set : B)



(3) 1208/(Set : B)
gug - H

SECTION - A

1. @ v offaard & X vd% 1 3i% & 2 1x10=10

All questions are compulsory and carry 1 mark each.

(i) el U § SRWi® Siien & fofT fhg HTML 31 &1 SUaRT 6 o & ?

(A) <u> (B) <h>

(€ <a> (D) <p>
Which HTML tag is used to create a hyperlink in a Webpage ?
(A) <u> (B) <h>

(€ <a> (D) <p>

(i) IR elements "P", "Q", "R" 3 "S" # Tk stack ¥ @I ST & N TH a) 7 &
fem o &, @ S | %W H sern s ?

(A) PRSQ (B) RSPQ
(C) SRQP (D) PQRS

If the elements "P", "Q", "R" and "S" are placed in a stack and are deleted

one at a time, in what order will they be removed ?
(A) PRSQ (B) RSPQ
(C) SRQP (D) PQRS

1208/(Set : B) P.T.O.



(4) 1208/(Set : B)
(i) FTP & q M &1 & ?

(A) BIET TRY HHET

(B) HU CRE WA

(C) WREW FIaY S

(D) I TEMSH S
What does FTP stand for ?

(A) File Type Processor

(B) Full Text Processing

(C) File Transfer Protocol

(D) Fast Transmission Protocol

(iv) STed °qq H T (AR HiaH ¥ 99 Blel AF I Y & ¢ 59 SQL HaRM &

U fRar ST B 7
(A) LEAST () (B) MIN ()
(C) SMALLEST () (D) BOTTOM ()

Which SQL function is used to retrieve the smallest value from a specific
column in a database table ?

(A) LEAST () (B) MIN ()
(C) SMALLEST () (D) BOTTOM ()

1208/(Set : B)



(5) 1208/(Set : B)
(v) EFR 0% PR REES ST TR & Ped [ 31 TRy % aRud & &hd &l

(e o7

Structure is a user-defined data type that can contain variables of different

data types. (True/False)

(vi) HTML & <h1> 7 & IWEN A9 &/ T90 B Fe@qqel oue $Hl RAmNd &7 &
forq fpar s B (7 o777

The <h1> tag in HTML is used to define the least level/the least important
heading. (True/False)

(VD) wovvvnennnnns M1 HT IYET HTML & IRe 1 3BT & & [T 6 S 2

............. Tag is used for making the text underline in HTML.
(VD) veveeennne A SR, WS & A9 & 1 & T91 3l 8

........... unary operator, increments the value of the operand by 1.

f35r : 79 Ry 7@ 7971 (ix TF x)7, SW¥HYT (A) 37T B (R) % &Y F [ae77 & %97 &
g9% F97 7 A7 [T T el 7 7 G871 [T B T9T F

Direction : In the questions (ix and x) given below, there are two statements
marked as Assertion (A) and Reason (R). Choose the correct option out of the

choices given below in each question :

1208/(Set : B) P.T.O.



(6) 1208/(Set : B)

(ix) SREREE (A) : T URL (FF%M REM @®ex) e W TF 4909 & 9o & a6 o
HROT (R) : 9 SS9 ace d1gs 99 § d9US Bl §e AN M & & ¢ URL &

(A)

(B)

(C)

(D)

SUGNT HXA

M (A) ST HRT (R) AT T8l § X 3R (R), If¥6e (A) # T2 e
2l

JTRYHET (A) X HROT (R) a1 Tl & X B (R), SIRMHA (A) 3 T8 e
T B

BN (A) T &, AMbT BRI (R) STHA 2l
ANHE (A) T &, AP BRI (R) 9 Bl

Assertion (A) : A URL (Uniform Resource Locator) is like the address of a

webpage on the internet.

Reason (R) : Web browsers use URLs to locate and retrieve Webpages from

(A)

(B)

(C)

(D)

1208/(Set : B)

the World Wide Web.

Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are correct and Reason (R) is not

the correct explanation of Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.



(7) 1208/(Set : B)
(x) YA (A) : SQL ® YU &9 Simple Query Language 3

R (R) : SQL FT SN Raswa Se@d § 1 & o< X FEie & & fae
S 2

(A) TREE (A) R FROT (R) a1 91 & X 3R (R), IRHEE (A) #l 98 e
2l

(B) aIfrmed (A) R PRI (R) 31 98 & 3R &R (R), STHeH (A) &l T& e
T R

(C) SINHIE (A) T 8, QBT BT (R) 1A 2

(D) SIRBEN (A) STHH 8, Al B (R) 9 2l

Assertion (A) : The full form of SQL is Simple Query Language.

Reason (R) : SQL is used to retrieve and manage data in relational

databases.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1208/(Set : B) P.T.O.



(8) 1208/(Set : B)
gug -

SECTION - B

Note: @ 9sH offard 21 7% U9 & 3% 39 9MA Ry T &

All questions are compulsory. Marks are indicated against each question.

2. 2NF &l qRHNg Hifera) 1
Define 2NF.

3. SOLH 5l 35 & 21 S/ & T SUA & 99 @il INSERT &8 & e g

Write the syntax of INSERT command in SQL used to insert data into a table.

4. C++ ¥ “GR” qu 1 fa<a i 1

Write syntax of "for" loop in C++.

—

5. i3 § YHK B HEgel B H TN 1

Name any two types of constructor.
gig -9
SECTION - C

Note : @YU Hfq/F & Y% U9 & 31 SHS dM1 (T T T

All questions are compulsory. Marks are indicated against each question.

6. HTML & ITGNT Hb Th JsU9T H image P HA NS Thd & 7 2
How to add image in a Webpage using HTML ?

1208/(Set : B)



(9) 1208/(Set : B)

7. 1280 B B Th BRI WHERY § STEA WS & SR H A A Aeide W HH H B B

I8 TEERl B WA H 8, Fel FROT & 6 98 F & Io19 fShoredt fedl & ITNT Bl

Bl 98 I FY W Th S & UGN F& (A deezal & @il &< @l ol 98 T

9 I H ST P JIGEEC f0b b AEH § P 99 Txad (Td) H G B § SR
AT WoE H QT FA ol

(ST B & STER T I 3) 2

A 12th-class student is working on her school project about eco-friendly
practices. She cares about the environment, which is why she uses digital copies
instead of paper. She is exploring different websites using a browser on her
computer. She explores many web addresses through website links using a

search engine and completes her project.

(Give answer based on the above information)

(i) fr=fafea § @ @9 t SS9 & & § ?

(A) TR a8
(B) T HH

(C) USH ®IAeT
(D) U Blesiic

Which of the following is an example of a browser ?
(A) Microsoft Word

(B) Google Chrome

(C) Adobe Photoshop

(D) Excel Spreadsheet

1208/(Set : B) P.T.O.



(10) 1208/(Set :

(i) SN TN Toiae ® [0 T 99 H ST F AT 7
A) fefea e M & fo

(B) Hode ®idt Tfee &1 & faw

(C) ool § Hfyd Teerd I A B e

(D) SIoiFE Bl Pl HARAT B & o

Why does she use search engine for her project ?
(A) To draw digital pictures

(B) To edit project photos

(C) To find relevant information quickly

(D) To organize project files

8. MAX () PRM X 363 g & SQL § Iaewr died THeE

Explain MAX () function, its syntax in SQL with example.
9. TEEXW & @Y SQL H el i & DDL Commands %! & &I

Explain any two DDL Commands in SQL with example.

1208/(Set : B)
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(11) 1208/(Set : B)

AYAT
OR
'student_data' 3Ted 9 'Student_Course' H& G B TUEAI PR 2
Examine the following table named 'Student _Course' from the 'student data'
database :
Stu_ID Stu_Name Stu_Course
101 A Hindi, Maths
102 B Hindi, Bio
103 C Computer, Bio
104 D Computer, Maths

(i) R T e R A B (INF) § § ?

&

(A) @

(B)

(C) faiRa =& fean s wepan

Is the given table is in First Normal Form (1NF) ?
(A) Yes

(B) No

(C) Cannot be determined

1208/(Set : B) P.T.O.



(12) 1208/(Set : B)
(i) B AWT BH (INF) B e e @ 2 ?

(A) TOF BT F T § AEE 99

(B) W% HieW F IX-TLHHE AW

(C) Y% HicH H Tiheh/Thdd A

(D) & & FE T

What is the key characteristic of First Normal Form (1NF) ?
(A) Multiple values in each column

(B) Non-atomic values in each column

(C) Atomic/Single values in each column

(D) None of these

10. C++ ¥ U% o & 9 U B & dd GRWING f6ar S @bl €, 38 U S&= & 9
qu=| p)

Explain, with an example, how to define a function outside a class in C++.
gug - §

SECTION - D

11. f=iiiaa sl e e 4
Explain the following :
(@@ LAN

1208/(Set : B)



(13) 1208/(Set : B)

(b) MAN

(© WAN

(d) WWW
ST
OR

SeainT § TCP/IP Hied & [aver & X 39 Aied &l el & JuX )l HEYvel $H g9
4

Describe the TCP/IP model in networking and explain the workings of any two

layers of this model.

12, C++ ¥ fSEER $ S@ERCT & T SUGHR ST SEEL & 61 T 4
Explain the concept of a destructor using a suitable programming example in
C++.

YqT
OR

C++ ¥ TR 1 qRwig &% X R, Icciue oiX geciadd 3eiked &l e &l 4

Describe Inheritance in C++ and explain Single, Multiple and Multilevel
inheritance.

1208/(Set : B) P.T.O.



(14) 1208/(Set : B)
13. HiféT 97 & ? g 9 ITEXOT Hid AR § qHEY 4

What is sorting ? Explain Bubble Sort in detail with example.

7T

OR
ST X 7 Al g A B ? AR A H o e 39 B & WY U e o
AR qH| 4

What is a linear queue in data structure ? Write and explain an algorithm to

insert an element into a linear queue.

14. fr=faRad @ /e & 4
(a) =N T T

(b) =TEe M T

(€ e R

(d) EEIE RET
Explain the following :
(a) Black Box Testing
(b) White Box Testing
(¢) Unit Testing

(d) Integration Testing

1208/(Set : B)



(15) 1208/(Set : B)
e
OR

SDLC 1 & ? SDLC & fhel a7 %ol &l faer § g9amsy) 4

What is SDLC ? Explain any three phases of SDLC in detail.

1208/(Set : B)
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(2) 1208/(Set : C)
o TRl ST AT To JeT-UH T SHaed [@ T To & SARFT FIT-YH G o FE A T
ford siiT dmfoas a9t & GOl q¥ el F @ (9 T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o YT F97 % FUT 37 @ {4 & GElEd FY a [ Fe7-0F {7 T 78 8, g # I 59
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
(i) o797 G G - & § T 97 T 7 der T 8
The question paper is divided into four Sections - A, B, C and D.

(i) @& -9 B Fo7 @& 1 § 1 37% % 10 FGTo 597 &1

Section-A consists of question no. 1 has 10 Objective Type Questions of 1

mark each.
(i) G -F 71 7% &4 T TLTIT F97 &1

Section-B consists of 4 Very Short Answer Type Questions of 1 mark each.
(iv) % - 52 3% %5 TgI0T 597 &1

Section-C consists of 5 Short Answer Type Questions of 2 marks each.

(v) GUE-§ F SdRF [A%T & T 4 T8 4 [9r5F F97 &

Section-D consists of 4 Essay Type Questions of 4 marks each with internal
choice.

1208/(Set : C)



(3) 1208/(Set : C)
gUEg - 3

SECTION - A
1. @9 offFard 2 IR 9% 1 3% T Bl 1%x10=10

All questions are compulsory and carry 1 mark each.

() Zeed 9 H T AR HiaH 9 G99 8lel M W9 B ® ¢ B9 SQL HaRM &

YA fRer ST B 7
(A) LEAST () (B) MIN ()
(C) SMALLEST () (D) BOTTOM ()

Which SQL function is used to retrieve the smallest value from a specific
column in a database table ?

(A) LEAST () (B) MIN ()

(C) SMALLEST () (D) BOTTOM ()

(i) Frel IOt § eEWfe® Sewt & foT f| HTML & 1 STANT f6ar ST & 7
(A) <u> (B) <h>
(C) <a> (D) <p>
Which HTML tag is used to create a hyperlink in a Webpage ?
(A) <u> (B) <h>

) <a> (D) <p>

1208/(Set : C) P.T.O.



(4) 1208/(Set : C)
(i) IR elements "P', "Q", "R" ;X "S" F Tk stack ¥ @I SN ¥ ;X TH I) F &
f@r o &, @ S | %W | semn S ?

(A) PRSQ (B) RSPQ
(C) SRQP (D) PQRS

If the elements "P", "Q", "R" and "S" are placed in a stack and are deleted

one at a time, in what order will they be removed ?
(A) PRSQ (B) RSPQ

(C) SRQP (D) PQRS
(iv) FTP & QU M &1 & ?
(A) BT TRY HHET

(B) §U CRE WA

(C) B BT Mclehia

(D) B M e
What does FTP stand for ?
(A) File Type Processor
(B) Full Text Processing
(C) File Transfer Protocol

(D) Fast Transmission Protocol

1208/(Set : C)



(5) 1208/(Set : C)
3 T SR, AW & A9 & 1 § T91 a1 2

........... unary operator, increments the value of the operand by 1.

(VD) eerernennnnns T H ST HTML & IRe &l SiET@RA F1 & oY fFar s 2

............. Tag is used for making the text underline in HTML.

(vii) HTML & <h1> &M & IWEN FAqq X/ T F9 Aol vd H IRAmNd F: &
forg fpar s B (7 o777

The <h1> tag in HTML is used to define the least level/the least important
heading. (True/False)

(viii) EFR % o [SHRS S TR & Prad [ ST T-Y & aRuad & dhd ol
(#77) o7

Structure is a user-defined data type that can contain variables of different

data types. (True/False)

35 - 79 Ry 77 g9 (ix TF x)7, SW¥HYT (A) 37T R (R) % &Y F [ae77 & %97 &
9% 597 7 Ha Ry 10 et § @ @8 Awey &1 797 B -

Direction : In the questions (ix and x) given below, there are two statements
marked as Assertion (A) and Reason (R). Choose the correct option out of the

choices given below in each question :

1208/(Set : C) P.T.O.



(6) 1208/(Set : C)
(ix) SIEEE (A) : SQL # YU &9 Simple Query Language 3

R (R) : SQL FT SN Raswa Se@d § 1 & o< X FEie & & fae
S 2

(A) TREE (A) R FROT (R) a1 91 & X 3R (R), IRHEE (A) #l 98 e
2l

(B) aIfrmed (A) R PRI (R) 31 98 & 3R &R (R), STHeH (A) &l T& e
T R

(C) SINHIE (A) T 8, QBT BT (R) 1A 2

(D) SIRBEN (A) STHH 8, Al B (R) 9 2l

Assertion (A) : The full form of SQL is Simple Query Language.

Reason (R) : SQL is used to retrieve and manage data in relational

databases.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1208/(Set : C)



(7) 1208/(Set : C)

(x) SREREE (A) : T URL (FF%M REM @i®ex) e W 0F 4909 & 9o & a8 o
HROT (R) : 39 SS9 ace dIgs 99 § d9US Bl §e AN M & & ¢ URL &

(A)

(B)

(C)

(D)

SUGT FHXA R

M (A) ST HRT (R) AT T8l § X 3R (R), If¥6e (A) # T2 e
2l

JTRYHET (A) X HROT (R) a1 Tl & X B (R), SIRMHA (A) 3 T8 e
T B

ANYHIT (A) T &, ARBT BRI (R) STEH B

ANHE (A) T &, QAMPT BRI (R) 9 Bl

Assertion (A) : A URL (Uniform Resource Locator) is like the address of a

webpage on the internet.

Reason (R) : Web browsers use URLs to locate and retrieve Webpages from

(B)

(C)

(D)

1208/(Set : C)

the World Wide Web.

Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are correct and Reason (R) is not

the correct explanation of Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

P.T.0O.



(8) 1208/(Set : C)
gUEg - §

SECTION - B

Note: @ us offgrd 21 7% U9 & 3% 39 9MA Ry T &

All questions are compulsory. Marks are indicated against each question.

2. PHE IR B HEIEX H 9 Sq 1
Name any two types of constructor.

3. 2NF &l qR¥iiya @i 1

Define 2NF.

4. SQLH 5l 35w & 21 s & U W @ 9T arel INSERT &Wis &1 forea fordl 1

Write the syntax of INSERT command in SQL used to insert data into a table.

5. C++ ¥ “BR” qu & Reaq o 1
Write syntax of "for" loop in C++.
que -9
SECTION - C

Note: @49 o9/ B Y% 9 B i Sd& A U MU 2

All questions are compulsory. Marks are indicated against each question.

1208/(Set : C)



(9) 1208/(Set : C)
6. C++ ¥ UF I & 96Y Uh HRM H Y TRNT fFT S 96l 2, 39 U I & 91

| 2
Explain, with an example, how to define a function outside a class in C++.
7. HTML & S9N % Th JsU9T ¥ image P A NS Thd & 7 2

How to add image in a Webpage using HTML ?

8. COUNT () BN 3R 30 e H SQL § I afed ezl 2
Explain COUNT () function, its syntax in SQL with example.

9. 124 F&M H TH BET WOl & FGFRA WA & AR F A T Wolde W HH F E 8
98 TEERCT B WA H 8, el FRVT & [ 98 F & ao1d fShofedt dfedl & I Bl
Bl 8 U FYX W TF TS0 &H SUANT Hb [~ de@Rel &l ol &Y @l 51 8@ &
9 I H ST P JGEEC foih b AEH § P 99 Txad (T) H G B § SR
AT Ao H G0 FA o

(SR STBI & STER T I 1) 2

A 12th-class student is working on her school project about eco-friendly
practices. She cares about the environment, which is why she uses digital copies
instead of paper. She is exploring different websites using a browser on her
computer. She explores many web addresses through website links using a
search engine and completes her project.

(Give answer based on the above information)

(i) fr=fafea § @ S9 T SS9 & SEE § ?

(A)  HEShIEHE a8
(B) T HH

(C) TSI WIS
(D) U Bresiic

1208/(Set : C) P.T.O.



(10) 1208/(Set :

Which of the following is an example of a browser ?
(A) Microsoft Word
(B) Google Chrome
(C) Adobe Photoshop
(D) Excel Spreadsheet
(i) SEA O Uoige & U T I B SWN ;i fhar ?
(A) fefted fom oM & foT
(B) Wode ®iet Tfee A & faQ

(C) TS & Heftd T < A & Y
(D) NI BIgall Pl FART B & T

Why does she use search engine for her project ?
(A) To draw digital pictures

(B) To edit project photos

(C) To find relevant information quickly

(D) To organize project files

1208/(Set : C)



(11) 1208/(Set : C)
10. 'student data' eE® ¥ 'Student_Course' AHE = TG & THE BT : 2

Examine the following table named 'Student Course' from the 'student data'

database :
Stu_ID Stu_Name Stu_Course
101 A Hindi, Maths
102 B Hindi, Bio
103 C Computer, Bio
104 D Computer, Maths

(i) R T e R A B (INF) § § ?
(a) &
(B) &
(€) TeiRa =& frar s Hepa
Is the given table is in First Normal Form (1NF) ?
(A)  Yes
(B) No

(C) Cannot be determined

1208/(Set : C) P.T.O.



(12) 1208/(Set :
(i) B AWT BH (INF) B e e @ 2 ?

(A) U HiH H Th A AE AW

(B) Ud% e ¥ I-uif A

(C) Y% HicH H Tiheh/Thdd A

(D) T & K T

What is the key characteristic of First Normal Form (1NF) ?

(A) Multiple values in each column

(B) Non-atomic values in each column

(C) Atomic/Single values in each column
(D) None of these

Tgar
OR
ISR & G SQL ¥ fhddl it & DDL Commands &l &l $R

Explain any two DDL Commands in SQL with example.

1208/(Set : C)



(13) 1208/(Set : C)
g - T

SECTION - D
11. C++ ¥ zRRET # TRwid 3 ol fiE, Aiud R Aiclad gieied &l e & 4

Describe Inheritance in C++ and explain Single, Multiple and Multilevel

inheritance.
e
OR
C++ ¥ fREgaet & STIIROT B Th IUAHRT TMHT IaTeT0T S T T 4

Explain the concept of a destructor using a suitable programming example in

C++.

12. ST EFR H VA #0157 AR 7 § & oo 3¢ & % [ T T fad
AR gHEm| 4

What is a linear queue in data structure ? Write and explain an algorithm to

insert an element into a linear queue.

STeE

OR
TifdT a1 B ? 999 9 H IS G o @ 9HEET 4

What is sorting ? Explain Bubble Sort in detail with example.

1208/(Set : C) P.T.0O.



(14) 1208/(Set : C)
13. SDLC # & ? SDLC & f=l &7 =l il ek & w9emsy) 4
What is SDLC ? Explain any three phases of SDLC in detail.

e
OR
e @ aare &Y 4
(@) =N T T
(b) e M T
(0 e 2R
(d) EEWIE RN

Explain the following :
(a) Black Box Testing
(b) White Box Testing
(¢) Unit Testing

(d) Integration Testing

14. JeaisT § TCP/IP Wied &1 [FaX 3 o} 39 died & fhel & gy &1 HEuve H qoem|
4

Describe the TCP/IP model in networking and explain the workings of any two

layers of this model.

1208/(Set : C)



(15) 1208/(Set : C)

OR

frrifafad @t are &% 4
Explain the following :

(a) LAN

(b) MAN

(c) WAN

(d) WWW

1208/(Set : C)
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(2) 1208/(Set : D)
o TRl ST AT To JeT-UH T SHaed [@ T To & SARFT FIT-YH G o FE A T
ford siiT dmfoas a9t & GOl q¥ el F @ (9 T g
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.
o YT F97 % FUT 37 @ {4 & GElEd FY a [ Fe7-0F {7 T 78 8, g # I 59
T § 2l A qar & T8 A AIm
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instructions :
(i) o797 G G - & § T 97 T 7 der T 8
The question paper is divided into four Sections - A, B, C and D.

(i) @& -9 B Fo7 @& 1 § 1 37% % 10 FGTo 597 &1

Section-A consists of question no. 1 has 10 Objective Type Questions of 1

mark each.
(i) G -F 71 7% &4 T TLTIT F97 &1

Section-B consists of 4 Very Short Answer Type Questions of 1 mark each.
(iv) % - 52 3% %5 TgI0T 597 &1

Section-C consists of 5 Short Answer Type Questions of 2 marks each.

(v) GUE-§ F SdRF [A%T & T 4 T8 4 [9r5F F97 &

Section-D consists of 4 Essay Type Questions of 4 marks each with internal
choice.
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(3) 1208/(Set : D)
gug - H

SECTION - A

1. @ offaard & X % 1 3i% & 2 1x10=10

All questions are compulsory and carry 1 mark each.

(i) 3R elements "P", "Q", "R" X "S" F TF stack ¥ @I SN & ;X T I) § &
f o ®, @ S | %W | semn S ?

(A) PRSQ (B) RSPQ

(C) SRQP (D) PORS

If the elements "P", "Q", "R" and "S" are placed in a stack and are deleted

one at a time, in what order will they be removed ?
(A) PRSQ (B) RSPQ
(C) SRQP (D) PORS
(i) FTP&H U M &1 & ?
(A) TREA <Y TMET
(B) §U CRE WA
(C) BRA TFEHY Aekbid
(D) ®RE MM Wb

1208/(Set : D) P.T.O.



(4) 1208/(Set : D)
What does FTP stand for ?

(A) File Type Processor
(B) Full Text Processing
(C) File Transfer Protocol

(D) Fast Transmission Protocol

(i) STET A H T [T HiaH § 999 Bl AW I 3 & ¢ b9 SQL HaRE H

YA fRer ST B ?
(A) LEAST () (B) MIN ()
(C) SMALLEST () (D) BOTTOM ()

Which SQL function is used to retrieve the smallest value from a specific
column in a database table ?

(A) LEAST () (B) MIN ()
(C) SMALLEST () (D) BOTTOM ()

(iv) frelt d9Us § SRWi® Siien & fofT fhe HTML 31 &1 SUaRT 6 o & 7
(A) <u> (B) <h>
(C) <a> (D) <p>

Which HTML tag is used to create a hyperlink in a Webpage ?
(A) <u> (B) <h>
() <a> (D) <p>

1208/(Set : D)



(5) 1208/(Set : D)
(v) HTML # <hl> T & IQEN A &/ TG0 HH Fewdqel v B RANd &1 &
foe fepar St 21 (7] 379

The <h1> tag in HTML is used to define the least level/the least important
heading. (True/False)

(vi) EFR % PN CEES ST TR & PEd [ Se1 TRy & aRued & dd ol

(6] 577

Structure is a user-defined data type that can contain variables of different

data types. (True/False)

(Vi1) ceeeeennnn T SR, WS & A9 & 1 § T1 adl 2

........... unary operator, increments the value of the operand by 1.

(VAED) ooeevrnnnnns T P I HTML & 3R P SR H & [0 6 i 2

............. Tag is used for making the text underline in HTML.

35 - 79 Ry 7@ 7971 (ix TF x)7, SW¥HYT (A) 37T R (R) % &Y F [ae77 & %97 &
g9% F97 7 A7 [T T el 7 7 G871 [T B T9T F

Direction : In the questions (ix and x) given below, there are two statements
marked as Assertion (A) and Reason (R). Choose the correct option out of the

choices given below in each question :

1208/(Set : D) P.T.O.



(6) 1208/(Set : D)

(ix) SREREE (A) : T URL (FF%M REM @®ex) e W TF 4909 & 9o & a6 o
HROT (R) : 9 SS9 ace d1gs 99 § d9US Bl §e AN M & & ¢ URL &

(A)

(B)

(C)

(D)

SUGT FHXA R

M (A) ST HRT (R) AT T8l § X 3R (R), If¥6e (A) # T2 e
2l

JTRYHET (A) X HROT (R) a1 Tl & X B (R), SIRMHA (A) 3 T8 e
T B

ANYHIT (A) T &, AfBT BRI (R) STEH B

ANHE (A) T &, AP BRI (R) 9 Bl

Assertion (A) : A URL (Uniform Resource Locator) is like the address of a

webpage on the internet.

Reason (R) : Web browsers use URLs to locate and retrieve Webpages from

(A)

(B)

(C)

(D)

1208/(Set : D)

the World Wide Web.

Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

Both Assertion (A) and Reason (R) are correct and Reason (R) is not

the correct explanation of Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.



(7) 1208/(Set : D)
(x) YA (A) : SQL ® YU &9 Simple Query Language 3

R (R) : SQL FT SN Raswa Se@d § 1 & o< X FEie & & fae
S 2

(A) TREE (A) R FROT (R) a1 91 & X 3R (R), IRHEE (A) #l 98 e
2l

(B) aIfrmed (A) R PRI (R) 31 98 & 3R &R (R), STHeH (A) &l T& e
T R

(C) SINHIE (A) T 8, QBT BT (R) 1A 2

(D) SIRBEN (A) STHH 8, Al B (R) 9 2l

Assertion (A) : The full form of SQL is Simple Query Language.

Reason (R) : SQL is used to retrieve and manage data in relational

databases.

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the

correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct and Reason (R) is not

the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

1208/(Set : D) P.T.O.



(8) 1208/(Set : D)
gug -

SECTION - B

Note: @Y fAqrd 21 U3% UH & i SED 9 QU T &)

All questions are compulsory. Marks are indicated against each question.

2. SQLH 5l 5o & 21 oM & T SUEI & 9T all INSERT &g &l faeaq forg 1

Write the syntax of INSERT command in SQL used to insert data into a table.

3. C++ ¥ “GR” qu &1 fa<e ferdy 1

Write syntax of "for" loop in C++.

4. B IR B HEI H 9 Sq| 1

Name any two types of constructor.

5. 2NF &l qRHMA i) 1
Define 2NF.
qus -9
SECTION - C

Note : @YU Hfq/F & Y% U9 & 31 SHS dM1 (T T T

All questions are compulsory. Marks are indicated against each question.

1208/(Set : D)



(9) 1208/(Set : D)

6. 12df T B Th BRI WY F ATERA TS & SR H A A ok W HH H B o

I8 JEERl B WA H 8, Fel FROT & 6 98 F & So19 fShoredt Hfedl & ITN Bl

Bl 98 A FY W Uh SIS B UGN F& (A= deezal & @il &< @l ol 98 T

9 I H ST P JIGEEC f0b b AEH § P 99 Txad (Td) H G B § SR
AT WoE H QT FA ol

(ST B & STER T I 3) 2

A 12th-class student is working on her school project about eco-friendly
practices. She cares about the environment, which is why she uses digital copies
instead of paper. She is exploring different websites using a browser on her
computer. She explores many web addresses through website links using a

search engine and completes her project.

(Give answer based on the above information)

(i) fr=fafea § @ @9 t SS9 & & § ?

(A) TR a8
(B) T HH

(C) USH ®IAeT
(D) U Blesiic

Which of the following is an example of a browser ?
(A) Microsoft Word
(B) Google Chrome

(C) Adobe Photoshop

(D) Excel Spreadsheet

1208/(Set : D) P.T.O.



(10) 1208/(Set :

(i) SN TN Teige B [0 T 9 B ST F AT 7
A) fefea e M & o

(B) Wode ®idt Tfee & & faw

(C) d°l 9 Gad Serl I H & [
(D) SISEE HEdl Hl HaRYd & fo
Why does she use search engine for her project ?

(A) To draw digital pictures

(B) To edit project photos
(C) To find relevant information quickly
(D) To organize project files

7. SRR % WY SQL F fRel §i & DDL Commands &l &l &1
Explain any two DDL Commands in SQL with example.

STeE

OR
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'student_data' S99 ¥ 'Student_Course' AH& 4 &d H TUAT FX : 2

Examine the following table named 'Student Course' from the 'student data'

database :
Stu_ID Stu_Name Stu_Course
101 A Hindi, Maths
102 B Hindi, Bio
103 C Computer, Bio
104 D Computer, Maths

(i) R T e R A B (INF) § § ?
(a) &
(B) &
(C) TeiRa =& frar s Hepe
Is the given table is in First Normal Form (1NF) ?
(A)  Yes
(B) No

(C) Cannot be determined
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(i) B AWT BH (INF) B e e @ 2 ?

(D)

Yo HieH H Th 9 A qH
JoE B | IR-TSHEG AN

Yo hieH § Ui/ Thel A
T | B T

What is the key characteristic of First Normal Form (1NF) ?

(A)

Multiple values in each column
Non-atomic values in each column

Atomic/Single values in each column

None of these

8. AVG () RN X SH® f&<ad & SQL & I afed THemsy|

Explain AVG () function, its syntax in SQL with example.

D)

9. C++ ¥ U%h 7 & e Th BRI &I »d IRWING fF6ar o @har &, 38 U I&=< & 9

|

Explain, with an example, how to define a function outside a class in C++.

10. HTML & ST & Uh 5991 § image H HY NS Ghd & °

How to add image in a Webpage using HTML ?
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2



(13) 1208/(Set : D)

s -
SECTION - D
11. f=iiiaa sl s Y 4

(a) =% S RET
(b) @Ee S 2R
(c) Ffre e
(d) EIW R
Explain the following :
(a) Black Box Testing
(b) White Box Testing
(¢) Unit Testing
(d) Integration Testing

AYAT

OR
SDLC #1 8 ? SDLC & el 7 =Rell &l e & qwasy 4

What is SDLC ? Explain any three phases of SDLC in detail.
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12. FHRGd H e #e 4
Explain the following :
(@) LAN
(b) MAN
(©) WAN
(d WWW
gar
OR
SeaisT § TCP/IP Hiegd &1 [&axer & X 36 died & el & «a¥ & HrEvome & g9
4

Describe the TCP/IP model in networking and explain the workings of any two

layers of this model.

13. C++ ¥ foEaey & S@ERe & Th SUGHR ST SIEt & g T 4
Explain the concept of a destructor using a suitable programming example in
C++.

HAYAT
OR

C++ ¥ TR A qRwnftg &% X R, Iciua oiX gedicad 3eiked &l e &l 4

Describe Inheritance in C++ and explain Single, Multiple and Multilevel
inheritance.

14. HifET 71 & ? 999 A I Qied e | §HEy 4
What is sorting ? Explain Bubble Sort in detail with example.
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ST X F AlifEX #g A B ? AR g H o e 39 B & Y U e e
aﬂww@ 4

What is a linear queue in data structure ? Write and explain an algorithm to
insert an element into a linear queue.
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